
ARNE BUTACA /

KAW-0006

ARNE ARMCHAIR



ARNE BUTACA  / ARNE BUTACA 2/22/2

PIEZAS / PIECES

A x 8 B x 8

PARTES / PARTS

C x 1

PASO 1 / STEP 1

1 1 x 1 ud.

2

3

M8 x 35 mm M8 x 18 x 1 mm

4

4

A x 4 B x 4 C x 1

M8 x 35 mm M8 x 18 x 1 mm

2

3

4

4

A

C
B

x 4

2 x 1 ud.

3 x 1 ud.

4 x 2 uds.

PASO 2 / STEP 2

A x 4 B x 4 C x 1

M8 x 35 mm M8 x 18 mm

x 4

A

C

B 1

Las flechas indican posición 
delantera de las patas /  
Arrows indicate the front 
position of the legs.

!

Al finalizar el montaje, se recomienda 
sentarse para conseguir el ajuste óptimo 
de las patas. / At the end of the assembly, 
it is recommended to sit down in order 
to achieve the optimum adjustment of 
the legs.

NOTA / NOTE:


